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SN FOTEIX VD

M DM AUsHo XA

ool BEs 1YY X8 (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

oS EX A 4,438,972 4,508,428 A B9,456
DX Jsso dFXA 2,577,844 2,647,300 A 69,456
e AF2E N 326,220 395,676 A 69,456
TEYRFA 241,984 311,440 A 69,456
101 @124l 52,095 121,551 A 69,456
04 D12t 22 HEE = 52,095 121,551 A 69,456
OWHeed JI2EHM2 2 X elAH] 47,318 110,408 A 63,090
-Jl2s 48,6803 x3H x222 x 123 38,555 89,961 A 51,406
—F=5=4 48,6802 3«42«12 7,010 16,357 NQ,347
-2 48,680 «3H 122 1,753 4,090 A2,337
OUHMee JIZNIZ2X B2 4,777 11,143 A6,366
—=0H= 47,318,000% *45/1,000 2,130 4,969 A 2,839
—HLLEE 47,318,000& *29/1,000 1,373 3,202 21,829
—LoFHIAEE 1,373,000&%65.5/1,000 90 210 A 120
— U828 47,318,000 *15/1,000 710 1,657 AN Q47
—&THEE 47,318,000& *10/1,000 474 1,105 A 631
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201495 =3 4 3] LESIH &

SH: R0IPOE K E D
SH
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Helr Esdtztel (&)

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
2O & XA 239,532 254,702 A 15,170
ANHHZHO sEHOl 22| 37,776 52,946 A 15,170
fs a2 37,776 52,946 A 15,170
ARI=22e 840 16,010 215,170
201 LEt2A | 840 16,010 A 15,170
02 32224l 0 15,170 A 15,170
OSREXNEZE Ml RERS 0& 0 15,170 A 15,170
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SH: RH0IPHSID
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Sl W 2 28F HMye CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
01T H 1D 532,717 527,747 4,970
< 12,607 7,637 4,970
Al 520,110 520, 110 0
Ngh B4 28 24 461,557 456,587 4,970
= 2,607 7,637 4,970
Al 448,950 448,950 0
Tys 20 528 ML 461,557 456,587 4,970
= 12,607 7,637 4,970
Al 448,950 448,950 0
SHHEY BrEs 4,207 2,637 1,570
= 4,207 2,637 1,570
201 et HH| 2,007 437 1,570
= 2,007 437 1,570
01 At 22l bl 2,007 437 1,570
ONYH MNLS gy B (SYH)
1,570,0002 1,570 0 1,570
= 1,570 0 1,570
NEM=EU &S 6,400 3,000 3,400
= 6,400 3,000 3,400
201 2Ler2 A H| 3,400 0 3,400
= 3,400 0 3,400
01 At 22l i 3,400 0 3,400
OXNYH MRS gy AFs (SYH)
3,400,0002 3,400 3,400
= 3,400 3,400
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Ha: NFENE =5
el detst N3 2el (Sl & &)

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
0l Al S2 378,042 373,882 4,160
& 10,809 6,649 4,160
Al 367,233 367,233 0
A= &F 316,962 312,802 4,160
< 10,809 6,649 4,160
Al 306, 153 306, 153 0
Y Ee N2 251,568 247,408 4,160
< 10,809 6,649 4,160
Al 240,759 240,759 0
SNHEN A2 3,409 2,149 1,260
< 3,409 2,149 1,260
202 o4 Hl 1,260 0 1,260
< 1,260 0 1,260
01 = LH 4 Hi 1,260 0 1,260
OMYHM 2= &5 ol (848d)

20,0003 «21H »3 1,260 0 1,260
< 1,260 0 1,260
NEM=EU &S 5,400 2,500 2,900
< 5,400 2,500 2,900
405 XtAtE SHI 2,900 0 2,900
< 2,900 0 2,900
01 AL ESFH SHI 2,900 0 2,900
Oz (Led) 145,000& 204 2,900 0 2,900
=) 2,900 0 2,900
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HE: NRE CABY X4
el MRE AelEY X4 (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
dolFeZdn 3,701,535 3,453,535 248,000
= 3,648 3,648 0
Al 3,697,887 3,449,887 248,000
MRE SAE =4 248,568 260,568 A 12,000
JHRe Helsgtd =24 247,068 259,068 A 12,000
238 4a 2el 104,350 116,350 A 12,000
201 L Er2A | 104,350 116,350 A 12,000
01 At 22l bl 86,950 98,950 A 12,000
OrSL-HILI(E . UHY) 287 21,000 33,000 A 12,000
— SHEA 100,000 31 »6CH«10& 18,000 30,000 A 12,000
HE2AZH (K0P Z M) 3,210,793 2,950,793 260,000
el 2 3,122,953 2,862,953 260,000
el 2l 3,122,953 2,862,953 260,000
101 1Al 3,122,953 2,862,953 260,000
03 I AHAx2 22+ 3,122,953 2,862,953 260,000
O&dnlstd g2z ¥ FUHEH 781,720 521,720 260,000
o ELEEEEEIEEEEY
130,000,000 «6H 780,000 520,000 260,000
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By ONGD HEM TREAXM
ool cesxe (ol @)
SN HB S (3H) - NPAY - BAES 0 &t w/E-F HREZ
A0 7AL L 5,080,733 5,130,733 A50,000
& 58,026 58,026 0
Al 5,022,707 5,072,707 A50,000
oHMGHY Bl E2Edxd 3,292,081 3,342,081 A 50,000
CE2RA 2 3,244,901 3,294,901 A50,000
tz2 - Eots &2 1,996,299 2,046,299 250,000
401 AIEHI L 20 477,359 527,359 250,000
01 A& HI 473,910 523,910 50,000
OS2 OtHEMHZ =SEHS DA SA 155,800 205,800 A 50,000
—L=S5F 5,000, 000& »26== 130,000 180,000 250,000
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